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.T(p) =

R =1wm, w=1—,
.7(p) = R(1 —cos@cos3p), ¢ = wt.
.7(¢) = Rcos?4p, ¢ = wt/3.

.7(¢) = Rsin’5¢, ¢ = wt/2.

.7(@) =R(1 —2sing), ¢ =3wt/2.

.7(p) =2Rtang@sing, ¢ = wt.

.r(p) =R cos(ST(p), @ = wt.

4R
2—sing

, ¢ = 2wt.

r(@) = R(2 —cos10¢), ¢ = wt/4.
r(p) = (2R)?, ¢ = wt.
.1(p) = (R/3)%, ¢ = wt/2.

r(p) = R(2 —3singp), ¢ = wt.

sin2¢
3

r(q)):R(1+ ), ¢ = wt/4.
r(p) = R(1 +3cosp), ¢ = wt.

r(p) = R(cos @ + 2singp), ¢ = wt/3.

r(¢) =R (COZS(p — 3sin go), @ = 2wt.

r(@p) = R(sing — 4 cosp), ¢ = wt.

r(p) = Rtan2¢, ¢ = wt.
r(¢p) =Rcotp ¢ = wt/2.
r(@) = Rlogp, ¢ = wt.
r(p) =Rlge, ¢ =2wt.

(@) =Rep™?, ¢ = wt.

r(p) = Ry/cos® ¢ +sin® ¢, ¢ = 3wt/2.



23.1(p) =R 1+ ¢, ¢ = 4wt/3.

3¢9-1

24.r(p) =R (T)’ ¢ = 2wt.



